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‘Checking-up’ Test Measures

Z
Do not use a ruler to answer these questions.
Estimate which of the linesV, W, X, Y, Z

is the longest [ ]

is the shortest [ ]

are of equal length .

measures 9 cm [ ]

measures 14 cm [ ]

! Write the missing numbers. - -
95 cm = half-cm 1m 35 cm = m
25 half-cm = am [ eam] | m = 40cm =
Tm = am 2m+ i cm = 265 cm
im = m sm + 90 cm = am
1km = m 650m + m = 1km
5km =, Mm s km + 300 m =_.m
1kg =8y [ 9] | 1kg-750g =g [ 4]
e kg =g [ 9l | zka+ g =700g [ 9]
kg = g [ 9] | 2kg400g = g [ 9]
1 litre = mt 2509 + 2509 = kg

morning afternoon morning afternoon

I w | [ ror ] L | | | |

. - th = min [_] , How many days in How long is it from
2h = min [ ] April [ ] 1000am ~1.00pm.[__h  min]
iho =8 mn [ | July [ ] | 130am -130pm. [ h min]
‘ £ 2h =Emn [ ] January [ ] |410pm. -500pm. [ _h min]
s 1week=  days [ ] October [ ] |815am. —1045am.[__h  min]
1year =  months| ] June? [ ] h _ min |

6.40 p.m. — 8.00 p.m.? |
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